Q1.

Match each coin to the correct box.

One has been done for you.

HR 7S
Less than ({(g&9p ¢

More than (-4
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Q2.

Kay has these coins.

How much money has she altogether?




Q4. Q5.

A shop sells these sweets. Fred wants to buy this drink.

- HlOp“
Abdul spends exactly 20p on sweets.

Tick (V') the bag of sweets he buys.
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Q6. Q7.

Lee buys two of these things to eat. Two purses hold the same amount of money.

He spends £1 altogether. Tick (V) them.

Tick (V) the two things he buys.

-

70p 4LOp

50p 30p
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Qs.

Abi had 80p in her purse.
Then she lost one of the coins.

How much altogether could be left in her purse
now?

Write all the different amounts.
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Qo.

Sita has these coins in her purse.

How much money does she have?




Q10. Q11.
Amy buys an ice-cream for 90p. Look at these coins:

What is the largest amount you can make using

(@) Tick (V) three coins to show how Amy can three of these coins?
make 90p.

(b) Tick (V) four coins to show another way to
make 90p.
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Q12.
Look at these four fruits.

Kemi buys three different fruits.
She spends exactly £1

Tick the three fruits that she buys.
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